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A sgI=HH
XM = J=sE3
Sl A CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
)AL FRAXH ZEIMAS Qs ALY
== 40,000,000 40,000
28NS B2AXA 28 1Y
20,000,000& 20,000
301 et A= 10,000 0 10,000
10 HAFAHI B A2 10,000 0 10,000
NISAES @AY WA =sIH X0
20,000& *500H 10,000
307 2iz2to| A 55,000 13,500 41,500
04 QI2H8H AL R 55,000 13,500 41,500
1)aleh L MAIS K 20,000,000& *13l 20,000
N=2sEM ®AIS XA 15,000, 000& «13] 15,000
1MSE 8AlS K& 20,000,000 x13] 20,000
401 A& H|IZ 2 0HY| 50,000 0 50,000
01 Al& gl 50,000 0 50,000
NRTZ2MSB)LE BAY 29
50,000,000 10 A~ 50,000
402 SI2F X0l & 15,000 0 15,000
01 QX2 X 15,000 0 15,000
Y ogtsl otA B2 ALY 15,000,000& 15,000
S HEH AL 9,840 7,282 2,558
101 e1214| 9,840 4,982 4,858
SR EE RS 9,840 4,982 4,858
NYWMEX 2 JIHIIS 82,000 x4 x30 9,840
SO HY AL Z 2 (XA 296,645 142,063 154,582
101 124 H| 122,125 80,091 42,034
PR EEN LR 122,125 80,091 42,034
NsIIHAMAIY X 80,816
20123 50,0003 x4H »250 50,000
2)J| Lt 12,500,000 x4 x1/3 16,667
2)AI2te =& 6,560 *4H «10A| 2t*x 12 3,149
2Q)FERSEIINTY 50,000 x4 H x452= 9,000
Q)9 xsas+E 50,000 x4 10 2,000
NASAYE SI|H UMY 2228 24 41,309
2123 50,000 x2H x50 25,000
2)J| 2 12,500,000 x2%H x1/3 8,334
)M 222
6,560 x2H x10A| 2F* 120 & 1,575
PAESE=R= K=tp] E =y 50,000& »2H «52== 5,200
Q9K SEIIEH 50,0003 x2H x 12 1,200
201 2Bt | 10,774 10,972 £ 198
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SN s EHE
M 59 JIsEs
©el: ZuAE (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 776 972 A 196
I = bl 108,000& »2H 216
negsg 560
2)sIIHLUHAIY AASI2Y 70,0008 «8H 560
02 =24l 9,998 10,000 A2
N =l 518
2)sIIHLUHAISRGINEY 58 88
802l E1+1,850& 518
NE52L3LHA 530
)L EtE NS (2.5832!)
30,000 = 1CH 30
Q)AEIASNSUHEE (2.5683d2)
500, 000& *1CH 500
1) Xtk A el 3,550
2)sIH =g seldEESE 60,0008 143 840
2)A2 832 (25834 9) 960,000 = 1CH 960
2)SIIHLUAMEEEHE  70,000& *253] 1,750
A& & HI S Xl 5,400
2)sJI A= H 5,400
3)EAH 2185 /690K 5,400,000 5,400
202 04l 3,750 0 3,750
01 S LHOIYI 3,750 0 3,750
NsJIAHLUHEEHESY & sIIH=3 =2l
50,0003 «5&H 1523 3,750
206 = Hl 84,996 51,000 33,996
01 MHZ 4l 84,996 51,000 33,996
NYHAMEE s&I 2 & 22WHE P
9,444,000 *9H & 84,996
401 AlEHI 22 OhYl 25,000 0 25,000
01 A& HI 25,000 0 25,000
NERA 512 LU HEDH STIAE
XE) 25,000,000 =100 2 25,000
405 TtakF S| 50,000 0 50,000
01 et EFSFHSHI 50,000 0 50,000
NXAX 2L (LEH, ) 25,000,000 «2CH 50,000
SIIHERAY 32,000 9,000 23,000
= 16,000
< 4,800
[ia 11,200
405 XtatE SHI 32,000 6,000 26,000
= 16,000
< 4,800
s 11,200
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AN sg€II=4dH
M 59 JIsEs
et BRAS (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et EFFHSHI 32,000 6,000 26,000
NsIIH REEH X 32,000,000& 32,000
= 16,000
< 4,800
[ia 11,200
SIHLUASE 2 2,000,000 1,000,000 1,000,000
= 1,000,000
< 300,000
s 700,000
401 AIEHIZL 20 1,000,000 500,000 500,000
= 500,000
= 150,000
i 350,000
01 A& Hl 1,000,000 500,000 500,000
NASRY SO JUHAH U=
1,000,000, 000& 1,000,000
= 500,000
< 150,000
[ia 350,000
405 XtatE SHI 1,000,000 500,000 500,000
= 500,000
= 150,000
s 350,000
01 AR ESFH S 1,000,000 500,000 500,000
NAGY SO dUHE s=2I 2
1,000,000, 000& 1,000,000
= 500,000
< 150,000
s 350,000
HE2LZH (sEII&sdH) 97,025 94,909 2,116
el 2 66,805 65,569 1,236
ol 2| 66,805 65,569 1,236
101 14l 66,805 65,569 1,236
01 2= 66,805 65,569 1,236
NAzZt 2244 66,805
2)2 48,293
NN 10,8393 x2H «20A| 2t 122 5,203
3) Xl & Ak 32,509
4)215 S0l & 8,848 +5H x20Al 2+ 128 10,618
4)205 20|15t 8,292% *11H *20Al 2+ 12& 21,891
3) AL 9,044 *3H x20Al 2tx 123 6,512
3)Jls7= 8,4763 x2F x20Al 2tx12& 4,069
2)S ¥ XA 18,512
3)215 30| & 8,848& «3H x30Al 2tx 128 9,556
3)21= =0l 6t 8,202% 3 x30Al 2t 128 8,956
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SIS dH

HH: HHSHHU (SYINSHE)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE &3l 30,220 29,340 880
Jl23l 30,220 29,340 880
201 LB-2d| 9,860 10,200 A 340
01 At 22l 9,860 10,200 A 340
DA R =] 5,800
2)J1 2 AR EE 299 200,000 5,800
=&l 4,060
2)sSEXNTAEFZ 29«20 »7,000& 4,060
202 04l 8,700 8,400 300
01 = LHA YI 8,700 8,400 300
NsEXNTAIEI 223
29«62 »50, 0003 8,700
203 YR =] 11,660 10,740 920
01 JIZ2Z YR8 3,300 3,300 0
NsgllsdeHLAE 275,000& 128 3,300
02 A& H =& 1,160 1,440 A 280
NsgllsdH 40,000 x29H 1,160
04 EAS2IYRFLH| 7,200 6,000 1,200
NsEX 2 350,000 = 12& 4,200
)22 250,000& »12& 3,000
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